| Efficiency vs Dxy |
> 0.2
Pas

20,18 A
= : : : : ; :

20265 e
c.. [ o ;
'50.14 e i At N S

E C
©0.12

0.1l
0.08F1-{ 1|11l
0.06( 4

ot

0.04F 111
0.02| 1|

Ratio

1 1 1
11 H ‘|H ‘

1
} } |

O9520 ~15 - 5 15 20

TP dxy (cm)

—=— DQM_original_originalvector_1000evt

[ Efficiency vs Dz | |—=— DQM_original_1000evt
—— DQM_fitted4_1000evt
n 0.2 : : : :

© L

T, SR S N ——

> r : : : : :
U L e e A
Q C : : : : :
(&) ‘ ; . . : ;
g 0. 14p e o o e '
) [ : : : : :

LTSNS R S ——

T e
0.0+

Y5 IS RS SRS S e =
0.4l o LI

093950 -10 0 10 20 _ 30
TP dz (cm)



	Contents
	Page 1


